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NEJHEESH 2T 16,560 0 16,560
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O8dIswAdEBHEENH L E XA
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OYSSENSNAELSHSHE 30,000
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206 M = Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
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OEBAMAMSLEMS Y 3,000
NEHMAIS =& 289,000 350, 100 A61,100
201 et 9| 69,400 50,800 18,600
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s8Il =
FM: s ZEHSXA
2 sEXNEIE &5 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
B EE S NPy,
90,000& »250H 22,500
J=sEXNENHSLLEDFEILAAH B4
90,000& 100 9,000
UsEXNEALEsELEHEIAZA
7,000& *200H 23] 2,800
303 &3 9,500 8,000 1,500
01 Z4& 3 9,500 8,000 1,500
OsEXN T AL EIIRSFT[2HA & 9,500
307 glz2tol & 88,800 168,000 AT79,200
02 RIZFAAMNE R 1,800 8,000 26,200
O4-H=AHMEsL X 1,800
04 QIZFHALE X 27,000 80,000 253,000
OZ4-HOrE s X & 27,000
05 RIZte & 3 60,000 80,000 220,000
OJsEXNE AN 60,000
AISASANEARESNNI (NS IS=sEI=XH) 30,000 15,000 15,000
= 30,000
308 XXM SO0 A 30,000 15,000 15,000
= 30,000
01 AXSHBLELS 30,000 15,000 15,000
O s SAEdRESIR 30,000
= 30,000
IS ASASAHEI2I (S Y=sSHEI=XH) 100,000 100,000 0
= 100,000
403 XAXISHM S X201 A 100,000 0 100,000
= 100,000
01 XM A2E X 100,000 0 100,000
Ohstd=saSAEERYE 100,000
= 100,000
NeSRAMEN S22} (sPH2HA2H) 116,870 139,400 A 22,530
= 113,070
< 3,800
202 oddl 7,600 10,800 A 3,200
= 3,800
< 3,800
01 = LH 4 1l 7,600 7,600 0
OXEsdigesan 7,600
= 3,800
= 3,800
308 XXM S0 A 109,270 128,600 219,330
= 109,270
01 AXNSGHBLEES 109,270 128,600 A 19,330




N s8II= =
MM =EHAGK
oo SEXNEIIY 25 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANESRRAMEZN =S Lot 109,270
= 109,270
NEERAGSINL N (A2 AY) 190,200 0 190,200
2 180,600
= 9,600
201 et 14,800 0 14,800
= 7,400
< 7,400
01 At 22/l 14,800 0 14,800
O W=l 14,800
OEEASUEAE 700,000 »4H 2,800
2 1,400
= 1,400
OsFITLA AN e
6,000,000 x2H 12,000
= 6,000
= 6,000
202 4l 4,400 0 4,400
= 2,200
< 2,200
05 B2 WU 4,400 0 4,400
Dedadsu=sSEA0H 300,000& »4H 1,200
= 600
< 600
(=P YHSALLL DS EH A0l
1,600,000& »2H 3,200
2 1,600
< 1,600
308 XX EHHSOIA 171,000 0 171,000
= 171,000
01 HIXNHHNBHEELES 171,000 0 171,000
ONcSRFG98ensiE 171,000
= 171,000
)=l gsld(sgrd2ozaty) 153,100 150,000 3,100
= 147,100
< 6,000
201 et 4,000 4,000 0
= 2,000
< 2,000
01 At 22l 4,000 4,000 0
Opt=2Hl 4,000
OANZAEZANEZ RS 4,000
= 2,000
< 2,000
202 o4dl 8,000 8,000 0
= 4,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 4,000
01 SLHOYI 8,000 8,000 0
OsEdEAMPEHES XA 0N 8,000
= 4,000
< 4,000
308 A EHHSOIA 141,100 138,000 3,100
= 141,100
01 HIXNHHBHEELES 141,100 138,000 3,100
OANZsgastgssy a2 X 16,100
= 16,100
OANZ=sEXEaMLdEE XA 125,000
= 125,000
SENZISZLE(NE=sEXNTAMLELSXH) 2,262,000 2,123,000 139,000
& 2,262,000
403 A X EHHS 20l A 2,262,000 2,087,000 175,000
& 2,262,000
01 X EHHMA=E L 2,262,000 2,087,000 175,000
OsEXNZIIEtAIH 1,440,000
& 1,440,000
Os&XN & 822,000
& 822,000
HUPASSZHAMIMS (N S=sLSHI=X S 170,000 350,000 180,000
)
& 170,000
403 MHXSHHSA=0l& 170,000 350,000 180,000
= 170,000
01 HXSHMA2E X 170,000 350,000 A 180,000
OHnASSI UM DAY 170,000
=1 170,000
NAEH SRS (NSsEXNAIE B LSRR 479,000 410,000 69,000
)
= 479,000
403 MHXSHHSA=0l& 479,000 410,000 69,000
& 479,000
01 HXHMA=E X 479,000 410,000 69,000
OXEgdsa=2)|gtxd 479,000
& 479,000
NALSHAIHLAE 69,000 60,000 9,000
403 tXISHH S =0l & 69,000 60,000 9,000
01 X SHMA2E X 69,000 60,000 9,000
OXNGASHSIHEAIY 230,000,000 *30/100 69,000
dEFsgllgtxy 580,000 600,000 220,000
403 MtXISHHE X201 E 580,000 600,000 220,000




2N sgII= ANE-H
HHM: =&HEGNE
H: sEXT0|e &= (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A 2E X 580,000 600,000 A 20,000
OxEZB0MESSAAIE A
1,000,000,000& *2JH A~ %20/ 100 400,000
OxEH0MSSAANEE L
200,000,000 *3JH A~ +30/100 180,000
SHOINFI|BXH 60,000 75,000 A 15,000
403 XX SHHS K20 & 60,000 75,000 A 15,000
01 XIS AE2E X 60,000 75,000 A 15,000
(=g NS HAIELEH ES
50,000, 000& «4JH 2~ =30/ 100 60,000
SIHUSt S22 I YAHE X M & 293,083 301,102 A8,019
= 85,000
= 208,083
101 Q124 H| 9,783 9,702 81
04 JI2ZtHIZ22NEES 9,783 9,702 81
OolgugtsEdHEyo 2
40,8303 x1&H 220 8,983
Jsteg= 800
201 2et2 Y| 155,300 159,000 £3,700
01 AP 22| d| 66,000 73,000 AT7,000
Ogs=2H| 60,000
OgsEAH oI ER Y 3,000,000& *43| 12,000
OYsSEdAN2EH| 60,000 *503] 3,000
OgEALARERL 5,000
OsgEgTz ) diaegesy 40,000
Oosg4¢ 4,000
OsgusdrUdAs=d 4,000
Do =Hl 2,000
OgsEzIEsI=E7YY 200, 000& x5H 23| 2,000
02 2324 89,300 86,000 3,300
O022=22H Al 6,000
OEEXNEBE2 ASIHM, SH2S
2,000,000& *2CH 4,000
OYEHHEE S 2,000
A& &l s Al 75,300
StEEHAHKNAMY S A E 4| 47,300
HFE M AEYH| S X2 24| 28,000
O Xk & BHy| 8,000
OgsEAxES | 8,000
202 044 13,000 12,000 1,000
01 2L Y| 13,000 12,000 1,000
OoHUSSEAL2ANH] 13,000
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MM =EHAGK
Sel SEXEIIE &5 (29l 8)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 5,000 0 5,000
01 =4l 5,000 0 5,000
OusIN2INzF 5,000
405 TtabF S| 110,000 115,000 A5,000
& 85,000
< 25,000
01 AL EFH S 110,000 115,000 25,000
OQHUSESAAASZ(01Y) 110,000
& 85,000
< 25,000
ANESatsdl)I=d3Es a3 (NYseII=d 145,000 145,000 0
X))
= 130,000
< 15,000
101 @124l 30,000 30,000 0
= 15,000
< 15,000
04 D12t Z22HEE = 30,000 30,000 0
OXESst=sgI)l=dE50124H]
10,000,000 *3Y 30,000
= 15,000
< 15,000
308 XtXIEHHSOIA 115,000 115,000 0
= 115,000
01 X HHILEES 115,000 115,000 0
OXNESEs=dI) =858 115,000
= 115,000
ST 8208 2d 2,459,640 2,071,050 388,590
= 1,392,400
< 1,067,240
seSSHA s 528,690 463,650 65,040
203 YR =2y 3,000 3,000 0
03 A=A H 2 =AH| 3,000 3,000 0
Dsgolcisdgesa 3.000
308 XX EHHSOIA 216,750 224,250 AT7,500
01 HIXNHHNBMNEES 216,750 224,250 AT,500
Osgod=ze2X#
40,0002 *14,000% *30/100 168,000
O4-H 22X 5,000& *2,5005 30/ 100 3,750
OsEXN=2-2 2o HA 15,000
O4-HS =3 Ao & == 15,000
OsoEst M4 HI R AR E
5,000, 000& * 107 2 *30/100 15,000
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
403 XX S M S X201 A 308,940 236,400 72,540
01 MXHHAEBE = 308,940 236,400 72,540
Y =4-HEHX A4 A3 0F - AFS
5,000,000 1501 A +30/100 22,500
OsEXNSXNESHMANNEZSS
8,000, 000 «22J1 A «30/100 52,800
OJY9s4-Held=MsH I =DM Ol =
10,000, 000 #2201 A «30/ 100 66,000
O&M4-HS 2 U HES K H
2,500, 000 464 A «30/100 34,500
(IESsgoHARSsSESMAIY
70,000,000 *39H A %x24/100 50,400
OsEXNES X HSALSGAIE E LR
394,000,000 *1JH & «21/100 82,740
SO NEZ=HAALS} 251,700 340,800 A 89,100
403 XXM S K201 A 251,700 340,800 A 89,100
01 XHNMAHEE = 251,700 340,800 A 89,100
SEIHN=ESAEY XN 50,700
Ofg=sH Y=
9,800,000 x5CH 30/ 100 14,700
O 2EtRt 13,000, 000 *5CH *30/100 19,500
OxE2EE2ZE
5,500,000 «10CH*30/100 16,500
O ZERNSAMNMZ0ISAIEES
22,000,000 *109H 2~ *30/100 66,000
OsHgL-aZAHH X
45,000,000 *109H 2~ *30/100 135,000
SEONMENS(sEHIoEAH) 177,000 217,000 A 40,000
= 177,000
308 XX SHHSOIH 177,000 217,000 A40,000
= 177,000
01 AXHNBIMNEXZ 177,000 217,000 A 40,000
OSsEHIUE 65,000
= 65,000
OAZ)sn=s 68,000
= 68,000
OME 3= 26,000
= 26,000
Osdus 18,000
= 18,000
solisied(sHE20I2AY) 313,200 335,000 A 21,800
= 313,200
308 XX SHHSOIA 313,200 335,000 A 21,800
= 313,200
01 IXHHNIMNEXS 313,200 335,000 AN 21,800
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
Osgoliszdg 313,200
= 313,200
sENCHSHdus(sgd=082dd) 19,200 17,600 1,600
= 19,200
308 XXM S0l ™ 19,200 17,600 1,600
= 19,200
01 HXHHBAEES 19,200 17,600 1,600
SENNSHU= 19,200
= 19,200
4IHI S XY (s H L) 66,000 66,000 0
= 33,000
& 33,000
307 @lztol & 66,000 66,000 0
= 33,000
< 33,000
02 2P EEX 32,000 32,000 0
O4-H==R WS 32,000
= 16,000
= 16,000
04 QI2HHALE & 34,000 34,000 0
04-Hal & w = L&l ALK & 34,000
= 17,000
S 17,000
ESsddFisd(sdd2ALY) 92,000 102,500 10,500
= 90,000
& 2,000
301 €EtE 4= 4,000 5,000 1,000
= 2,000
S 2,000
10 #AIAHI 24 = 4,000 5,000 A 1,000
OS=sgoa73dasay 24 4,000
= 2,000
= 2,000
308 XXM SO0l & 88,000 97,500 A 9,500
= 88,000
01 XM BAEES 88,000 97,500 29,500
OE=sg2da7ss4X3 88,000
= 88,000
SOIHERAY (BE) 337,500 396,500 59,000
= 288,000
S 49,500
201 L2 | 31,000 14,000 17,000
= 15,500
S 15,500
01 At 22l bl 31,000 14,000 17,000
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[Jget+==Hl 13,000
OJIAHSEsANFSUHRS 4,000
- 2,000
< 2,000
OJIHSEsMUS+EZHMISSTF 9,000
- 4,500
< 4,500
O2dsg 8,000
OJIHNSsMUSLATES 8,000
= 4,000
< 4,000
Oext= 5,500
OJIHFSE=sMUSE XN DS I
550,000 = 10CH 5,500
= 2,750
= 2,750
Do =l 4,500
OJIHsEsAuNSEEASE 50,0002 x90H 4,500
= 2,250
< 2,250
301 gt d= 14,000 25,000 211,000
= 7,000
< 7,000
10 HALAHIEAZ 14,000 25,000 A 11,000
OJIAsEsAtgts24AH S 14,000
= 7,000
= 7,000
308 XXM SO0l A 25,500 28,500 23,000
= 25,500
01 IXNHHBANEES 25,500 28,500 23,000
OsJIH8EE) ==X 25,500
= 25,500
403 XXM S X201 213,000 322,000 A 109,000
= 213,000
01 AXSMA=2E = 213,000 322,000 A 109,000
OsJIHnssd X2 213,000
= 213,000
405 RHoHF S HI 54,000 6,000 48,000
= 27,000
= 27,000
01 AL EFSFHSHI 54,000 6,000 48,000
OsJIHNSEHEH 2L (202 54,000
= 27,000
< 27,000
AEHEDSSHLHTAUSN A (SAH2AAH) 522,000 0 522,000
= 472,000
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= - — SHE|
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< 50,000
201 et 70,000 0 70,000
= 35,000
< 35,000
01 At 22l 8l 65,000 0 65,000
[Jget=ZH| 25,000
OH=HELSIMLRIMMES 10,000
= 5,000
< 5,000
OHsHEINNESHES 10,000
= 5,000
< 5,000
CQuUEsMOHMAIDEEZ 5,000
2 2,500
< 2,500
O2gs4 20,000
OFsHELUSLMTZES 20,000
= 10,000
< 10,000
Jext= 20,000
OZUSIHETLALLR 20,000
= 10,000
< 10,000
03 A2 Z Hl 5,000 0 5,000
OAsHEEEHAMEIL 5,000
= 2,500
< 2,500
202 odl 3,000 0 3,000
= 1,500
< 1,500
01 = LH Yl 3,000 0 3,000
OA=sHERSXNIALGSFEAH 3,000
= 1,500
< 1,500
301 YPr BN 27,000 0 27,000
2 13,500
= 13,500
10 AtAHIE A3 27,000 0 27,000
OAsHELSHSAS 20,000
= 10,000
< 10,000
OA=sHEFZUSAUHELS 7,000
= 3,500
< 3,500
308 XXM SO0 A 422,000 0 422,000
= 422,000
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A s8I=d NE=H =
M. HMSAHH (sEIs A=A
chel: ol oyl (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OARE=X 70,820
(OPIR==] 40,8303 x3H 250 30,623
[Or o = 30,622,500 *1/12x400% 10,208
OFs2¢Y 40,8303 *3H 52 6,370
OAR£=E 40,830& »3H x 19 2,328
OIE=Y 960
- B Xt 40,000 x1H x12& 480
- JIEHHS 20,0003 x2H x 128 480
OAZIA2 R4
40,8302 #1/8%1.5x3H %25A| 2+« 12& 6,891
O &0l 2,550
Ol =t 450
OuWEE=XH| 60,000 x3H x12& 2,160
OY ZE =t 600,000& *3H *23| 3,600
OFAHZAH| 130,000 x3H x12& 4,680
Jl=23 bl 23,300 27,600 A 4,300
Jl2343Hl 23,300 27,600 A 4,300
203 PR =&lY| 13,500 13,500 0
01 J|22H L R=AH| 3,300 3,300 0
O=2% 3,300
04 ENSHE LR E=AH| 10,200 10,200 0
OJ]&H 10,200
O30 0l ot 350,000 *1HE A +12& 4,200
O15% 0l 5t 250,000 *2 I £ A +12& 6,000
405 Xt 3 S| 9,800 14,100 £4,300
01 JMY = EF S HI 9,800 14,100 A 4,300
OMSAEI T2 4,000
OJPC(404) 5,800




